
  Ausbildungsgemeinschaft Frankfurter Volksbanken GbR 

 
Lösungen: Kredit Rechnen  
Nr.: Lösung:  Nr.: Lösung:  

6 111 Aktien  38 2 und 6  
7 4 %  39 80.000,00  
8 1.257,50 EUR  40 400,00 oder 

E23x0,06:12 
 

9a 394.000,00 EUR  41 480,00  
9b 490.000,00 EUR  42 164,94  
9c 442.000,00 EUR  43 253.590,00  
10 544.000,00 EUR  44 493.590,00  
11 2.899 Aktien  45 3.910,75  
12 2.075,00 EUR  46 2,90  
13 1.501,25 EUR  47 849,75  
14 209.000,00 EUR  48 325,00  
15 11.700,00 EUR  49 3.750,00  
16 33.400,00 EUR  50 2  
17 3.127,50 EUR  51 300,80  
18 1.180,00 EUR  52 10.526,96  
19 2.200,00 EUR  53 2.476,96 oder Algo 

E18– 8.050,00 
 

20a 67.200,00 EUR  54 5.480,00  
20b 1.294.000,00 EUR  55 191 oder Algo 

((E25:60)x100):48,0
0 aufgerundet 

 

21a 21.060,00 EUR  56 36.800,00  
21b 15.795,00 EUR  57 950,00  
21c 288.000,00 EUR  58 270.000,00 Algo 

E22 x 200 + 
80.000,00 

 

22a 74.000,00 EUR  59 745,00  
22b 32.000,00 EUR  60 69.000,00  
22c 33.680,00 EUR  61 988.387,50 Algo 

(E21-9.750,00) x 
14,15 + 150.000,00 

 

23 2.750,00 EUR  62 105,00  
24 2  63 15.300,00  
25a 870,00 EUR  64 361,34  
25b 150,60 EUR  65 478,46  
26a 16.500,00 EUR  19 723  
26b   2.887,50 EUR  20 3  
26c 60.000,00 EUR  22 227.200 EUR  
26d 193.087,50 EUR  23 514,58 EUR  
27 966,67 EUR  26 3.000 EUR  
28 A 2,6; B 3,8     
29a 115.000,00 EUR     
29b 180.000,00 EUR     
29c 295.000,00 EUR     
30a 16.200,00 EUR     
30b 317.000,00 EUR     
31a 330,00 EUR     
31b 231,00 EUR     
32 4.800,00 EUR      
33 3.600,00 EUR     
34 66 oder 86      
35 6.804,00 EUR     
36 211.404,00 EUR     
37 945,00      

 


